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Question Id : 68634044655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340176401. 1

686340176402. 2

686340176403. 3
686340176404. 4

Question Number : 2 Question Id : 68634044657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340176405. 1
686340176406. 2
686340176407. 3
686340176408. 4



Question Number : 3 Question Id : 68634044658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401764009. 1
686340176410. 2

686340176411. 3
686340176412. 4

Question Number : 4 Question Id : 68634044659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340176413. 1
686340176414. 2

686340176415. 3
686340176416. 4

Question Number : 5 Question Id : 68634044660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340176417. 1
686340176418. 2
686340176419. 3
686340176420. 4

Question Id : 68634044655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340176401. 1
686340176402. 2
686340176403. 3
686340176404. 4

Question Number : 2 Question Id : 68634044657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340176405. 1
686340176406. 2
686340176407. 3
686340176408. 4

Question Number : 3 Question Id : 68634044658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340176409. 1
686340176410. 2
686340176411. 3
686340176412. 4

Question Number : 4 Question Id : 68634044659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340176413. 1
686340176414. 2
686340176415. 3



686340176416. 4

Question Number : 5 Question Id : 68634044660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340176417. 1
686340176418. 2
686340176419. 3
686340176420. 4

Question Id : 68634044655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb

2

. mute

3. muffled

4, silent



Options :

686340176401. 1
686340176402. 2
686340176403. 3
686340176404. 4

Question Number : 2 Question Id : 68634044657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The acceptance of colour movies was a little slow compared to the

1. simileys
2. selfies
3. besties
4. talkies

Options :

686340176405. 1

686340176406. 2

686340176407. 3
686340176408. 4

Question Number : 3 Question Id : 68634044658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing

4. filming/developing

Options :

686340176409. 1
686340176410. 2
686340176411. 3
686340176412. 4

Question Number : 4 Question Id : 68634044659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340176413. 1
686340176414. 2
686340176415. 3
686340176416. 4

Question Number : 5 Question Id : 68634044660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340176417. 1
686340176418. 2
686340176419. 3
686340176420. 4

Sub-Section Number : 2
Sub-Section Id : 6863401458
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634044661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340176421. 1
686340176422. 2
686340176423. 3
686340176424. 4

Question Number : 6 Question Id : 68634044661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1.A.B.C.D
2D B A
3.B.D.A.C
4.C.A.D.B

Options :

686340176421. 1
686340176422. 2
686340176423. 3
686340176424. 4

Question Number : 6 Question Id : 68634044661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340176421. 1
686340176422. 2
686340176423. 3
686340176424. 4

Question Number : 7 Question Id : 68634044662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

—

. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340176425. 1
686340176426. 2
686340176427. 3
686340176428. 4

Question Number : 7 Question Id : 68634044662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340176425. 1
686340176426. 2
686340176427. 3
686340176428. 4

Question Number : 7 Question Id : 68634044662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

2. Calligraphy

LIPS ]

. Cartography

e

. Topography

Options :

686340176425. 1
686340176426. 2
686340176427. 3
686340176428. 4

Question Number : 8 Question Id : 68634044663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340176429. 1
686340176430. 2



686340176431. 3
686340176432. 4

Question Number : 8 Question Id : 68634044663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340176429. 1
686340176430. 2
686340176431. 3
686340176432. 4

Question Number : 8 Question Id : 68634044663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious

Options :

686340176429. 1
686340176430. 2
686340176431. 3
686340176432. 4

Question Number : 9 Question Id : 68634044664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340176433. 1

686340176434. 2

686340176435. 3
686340176436. 4

Question Number : 9 Question Id : 68634044664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside

4. with. on

Options :

686340176433. 1
686340176434. 2
686340176435. 3
686340176436. 4

Question Number : 9 Question Id : 68634044664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during. beside
4, with. on

Options :

686340176433. 1
686340176434. 2
686340176435. 3
686340176436. 4

Question Number : 10 Question Id : 68634044665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Tyvpe of pronoun
A |what I freflexive
B. jmyself II. |relative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:
1. A-IT. B-I. C-IV. D-III
2. A-I B-III, C-II, D-IV
3. A-IIL, B-1. C-IV. D-TI
4, A-IV, B-II, C-I, D-III

Options :

686340176437. 1
686340176438. 2
686340176439. 3
686340176440. 4

Question Number : 10 Question Id : 68634044665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340176437. 1
686340176438. 2
686340176439. 3
686340176440. 4

Question Number : 10 Question Id : 68634044665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340176437. 1
686340176438. 2
686340176439. 3
686340176440. 4



Question Number : 11 Question Id : 68634044666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340176441. 1
686340176442. 2
686340176443. 3
686340176444. 4

Question Number : 11 Question Id : 68634044666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340176441. 1
686340176442. 2
686340176443. 3
686340176444. 4

Question Number : 11 Question Id : 68634044666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16



Options :

686340176441. 1
686340176442. 2
686340176443. 3
686340176444. 4

Question Number : 12 Question Id : 68634044667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340176445. 1
686340176446. 2
686340176447. 3
686340176448. 4

Question Number : 12 Question Id : 68634044667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340176445. 1
686340176446. 2
686340176447. 3
686340176448. 4

Question Number : 12 Question Id : 68634044667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
e W W S WY

1.0.18

[ )
=

4.-2.6

Options :

686340176445. 1
686340176446. 2
686340176447. 3
686340176448. 4

Question Number : 13 Question Id : 68634044668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| B

. 10:9
3. 114:113

4. 196:187

Options :

686340176449. 1
686340176450. 2
686340176451. 3
686340176452. 4

Question Number : 13 Question Id : 68634044668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| ]

. 10:9

3. 114:113

4. 196:187



Options :

686340176449. 1
686340176450. 2
686340176451. 3
686340176452. 4

Question Number : 13 Question Id : 68634044668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11

| )

. 10:9
3. 114:113
4, 196:187

Options :

686340176449. 1
686340176450. 2
686340176451. 3
686340176452. 4

Question Number : 14 Question Id : 68634044669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1. 25,780

| B

.2 7,805

4. % 8,750

Options :

686340176453. 1
686340176454. 2
686340176455. 3
686340176456. 4

Question Number : 14 Question Id : 68634044669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.2 5,780

2. 37,805

Options :

686340176453. 1
686340176454. 2
686340176455. 3
686340176456. 4

Question Number : 14 Question Id : 68634044669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.7 5,780
2.2 7.805
3.2 7.850
4. % 8,750
Options :
686340176453. 1
686340176454. 2

686340176455. 3
686340176456. 4

Question Number : 15 Question Id : 68634044670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average age of three boys i1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years

4. 28 years



Options :

686340176457. 1
686340176458. 2
686340176459. 3
686340176460. 4

Question Number : 15 Question Id : 68634044670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340176457. 1
686340176458. 2
686340176459. 3
686340176460. 4

Question Number : 15 Question Id : 68634044670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340176457. 1
686340176458. 2
686340176459. 3
686340176460. 4

Question Number : 16 Question Id : 68634044671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows
Options :
686340176461. 1
686340176462. 2

686340176463. 3
686340176464. 4

Question Number : 16 Question Id : 68634044671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340176461. 1
686340176462 2
686340176463. 3
686340176464. 4



Question Number : 16 Question Id : 68634044671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.
Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and IT follows

4, Either I or II follows

Options :

686340176461. 1
686340176462 2
686340176463. 3
686340176464. 4

Question Number : 17 Question Id : 68634044672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340176465. 1
686340176466. 2
686340176467. 3
686340176468. 4

Question Number : 17 Question Id : 68634044672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340176465. 1
686340176466. 2
686340176467. 3
686340176468. 4

Question Number : 17 Question Id : 68634044672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340176465. 1
686340176466. 2
686340176467. 3
686340176468. 4

Question Number : 18 Question Id : 68634044673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340176469. 1
686340176470. 2
686340176471. 3
686340176472. 4

Question Number : 18 Question Id : 68634044673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340176469. 1
686340176470. 2
686340176471. 3
686340176472. 4

Question Number : 18 Question Id : 68634044673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

104
3. 89
4.54

Options :

686340176469. 1
686340176470. 2
686340176471. 3
686340176472. 4

Question Number : 19 Question Id : 68634044674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340176473. 1
686340176474. 2
686340176475. 3
686340176476. 4

Question Number : 19 Question Id : 68634044674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA

LEDWMPSNV
3.3GWMt2 UV
L ECWMY2ZUY

Options :

686340176473. 1
686340176474. 2
686340176475. 3
686340176476. 4

Question Number : 19 Question Id : 68634044674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340176473. 1
686340176474. 2
686340176475. 3
686340176476. 4

Question Number : 20 Question Id : 68634044675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340176477. 1
686340176478. 2
686340176479. 3
686340176480. 4

Question Number : 20 Question Id : 68634044675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340176477. 1
686340176478. 2
686340176479. 3
686340176480. 4

Question Number : 20 Question Id : 68634044675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6" November, 1983, which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4. Friday
Options :
686340176477. 1
686340176478. 2

686340176479. 3
686340176480. 4

Question Number : 21 Question Id : 68634044676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340176481. 1
686340176482. 2
686340176483. 3
686340176484. 4

Question Number : 21 Question Id : 68634044676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4, INSAT

Options :

686340176481. 1
686340176482. 2
686340176483. 3
686340176484. 4

Question Number : 21 Question Id : 68634044676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4. INSAT

Options :

686340176481. 1
686340176482. 2
686340176483. 3
686340176484. 4

Question Number : 22 Question Id : 68634044677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340176485. 1
686340176486. 2
686340176487. 3
686340176488. 4

Question Number : 22 Question Id : 68634044677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |Indian Aluminum Company I [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. A-IIT, B-IV, C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340176485. 1
686340176486. 2
686340176487. 3
686340176488. 4



Question Number : 22 Question Id : 68634044677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |[Indian Aluminum Company II1. [KORAPUT
D. [NALCO IV. [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-I1
2. AIL B-IV, C-I, D-1IT
3. AL BIV.CI DI
4. A-II B-1, C-IV, D-1I1

Options :

686340176485. 1

686340176486. 2

686340176487. 3
686340176488. 4

Question Number : 23 Question Id : 68634044678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340176489. 1
686340176490. 2
686340176491. 3
686340176492. 4

Question Number : 23 Question Id : 68634044678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340176489. 1
686340176490. 2
686340176491. 3
686340176492. 4

Question Number : 23 Question Id : 68634044678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340176489. 1
686340176490. 2
686340176491. 3
686340176492. 4

Question Number : 24 Question Id : 68634044679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340176493. 1
686340176494. 2
686340176495. 3
686340176496. 4

Question Number : 24 Question Id : 68634044679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. INM Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-TIL, B-IV, C-1I. D-I
2 AN BIV.CI.DII
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DI

Options :

686340176493. 1

686340176494. 2

686340176495. 3
686340176496. 4



Question Number : 24 Question Id : 68634044679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. |Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. ATl BIV. C-II. DI

| ]

AL B-IV, C-1, D-II

5]

CA-IV, BT, C-1, D-IT
4. A-II B-IV, C-1, D-111

Options :

686340176493. 1
686340176494. 2
686340176495. 3
686340176496. 4

Question Number : 25 Question Id : 68634044680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340176497. 1

686340176498. 2

686340176499. 3
686340176500. 4

Question Number : 25 Question Id : 68634044680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340176497. 1
686340176498. 2
686340176499. 3
686340176500. 4

Question Number : 25 Question Id : 68634044680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Point of origin of earthquake wave is known as

1. Seismic zone

b2

. Focus

LFS]

. Photosphere
4. Epicentre

Options :

686340176497. 1
686340176498. 2
686340176499. 3
686340176500. 4

Part B: Vyakarana Sabdabodha Systems

Section Id : 686340880
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401459
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634044681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SUSR 34 fop T o =T
1. 3

2. 87

5

3.3/
4. 31T

Options :

686340176501. 1
686340176502. 2
686340176503. 3
686340176504. 4

Question Number : 26 Question Id : 68634044681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3USRl 3 for g |
1. 3

2.89

5

3.3
4. 3€

Options :

686340176501. 1
686340176502. 2
686340176503. 3
686340176504. 4

Question Number : 26 Question Id : 68634044681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul 3 fer g =
1. 3fcl

2.8q

w

3.3/
4. 3C

Options :

686340176501. 1
686340176502. 2
686340176503. 3
686340176504. 4

Question Number : 27 Question Id : 68634044682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RS 3fd TRaFHAfRT-
1' 5 ~ 5

2. IIIRID: S
3. gauig g™
4, ST 5aH

Options :

686340176505. 1
686340176506. 2
686340176507. 3
686340176508. 4

Question Number : 27 Question Id : 68634044682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1' i \ 5

2, IS S
3. gauig s
4, AT 5™

Options :



686340176505. 1
686340176506. 2
686340176507. 3
686340176508. 4

Question Number : 27 Question Id : 68634044682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RS 3fd TRaFHAfRT-
1' g ~ 5

2. IIIRID: S
3. gauig g™
4, ST 5aH

Options :

686340176505. 1
686340176506. 2
686340176507. 3
686340176508. 4

Question Number : 28 Question Id : 68634044683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIARIHTH SHRURTAR -

1. PUa:

[ ]

&l

3.4
4, TP

Options :

686340176509. 1
686340176510. 2
686340176511. 3
686340176512. 4

Question Number : 28 Question Id : 68634044683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2. gl

3. dI¢

4, &1
Options :
686340176509. 1
686340176510. 2

686340176511. 3
686340176512. 4

Question Number : 28 Question Id : 68634044683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR SHRURTH I -
1. ®UG:
2. a-l:
3.dI¢
4. DT
Options :
686340176509. 1
686340176510. 2

686340176511. 3
686340176512. 4

Question Number : 29 Question Id : 68634044684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui Hafd -
1. YA
I
UgEaH
4, STEIVAAE

Options :

| )

[#5]



686340176513. 1
686340176514. 2
686340176515. 3
686340176516. 4

Question Number : 29 Question Id : 68634044684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HauiEs Hafd -
1. IR
 RFEE
R
4. SRIVAIEE
Options :
686340176513. 1
686340176514. 2

686340176515. 3
686340176516. 4

| )

[#5]

Question Number : 29 Question Id : 68634044684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hauig Hafd -
1. RFAYOEEE
RFEE
A
4. STRIVOEE
Options :
686340176513. 1
686340176514. 2

686340176515. 3
686340176516. 4

| )

L

Question Number : 30 Question Id : 68634044685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. cdlgdgd aui=y

3. S{HdlgdgeauaHy

[ ]

4, 3,

Options :

686340176517. 1
686340176518. 2
686340176519. 3
686340176520. 4

Question Number : 30 Question Id : 68634044685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. cdlgdgd aui=y

3. S{HdlgdgeauaHy

[ ]

4, 3T,

Options :

686340176517. 1
686340176518. 2
686340176519. 3
686340176520. 4

Question Number : 30 Question Id : 68634044685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. cdlgdgd aui=y

 Salgdgeaui—y

[ ]

[#N]

4. 3dH

N



Options :

686340176517. 1
686340176518. 2
686340176519. 3
686340176520. 4

Question Number : 31 Question Id : 68634044686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JaurETl 7 e -

1. dIgg
R lEsCal

3. PUG:
4. 3N

Options :

686340176521. 1
686340176522. 2
686340176523. 3
686340176524. 4

| )

Question Number : 31 Question Id : 68634044686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui 7 e -

1. drgg
ElEsEal

3. PUS:

4. 3H1

Options :

686340176521. 1
686340176522. 2
686340176523. 3
686340176524. 4

[

Question Number : 31 Question Id : 68634044686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3. PUS:

4. 318

Options :

686340176521. 1
686340176522. 2
686340176523. 3
686340176524. 4

Question Number : 32 Question Id : 68634044687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

daferfafa Py - s erquigae QRa> ud forgd -
1. IR™

2,34y

3. goe
4. IR

Options :

686340176525. 1
686340176526. 2
686340176527. 3
686340176528. 4

Question Number : 32 Question Id : 68634044687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR [P - SO HUgES IR U8, fod -
1. IR
2. R
3. 969
4, IR

Options :



686340176525. 1
686340176526. 2
686340176527. 3
686340176528. 4

Question Number : 32 Question Id : 68634044687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. Wy

2.3y

3. gae

4,3ty
Options :
686340176525. 1
686340176526. 2

686340176527. 3
686340176528. 4

Question Number : 33 Question Id : 68634044688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TP Bl e Teuiasd |
1. 7UayT
2. gigiaem™
3. uigfgfaur

4. Ul SUEERIUgiGiaa™

Options :

686340176529. 1
686340176530. 2
686340176531. 3
686340176532. 4

Question Number : 33 Question Id : 68634044688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T+ Sid TeoT TqUiand |
1. Tuifaen=
2. giafaem
3. Ul faur
4. UEfSUS AR UiafauT
Options :
686340176529. 1
686340176530. 2

686340176531. 3
686340176532. 4

Question Number : 33 Question Id : 68634044688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Fld YU SIS |
1. Tuifaen=
> ofefeuR
3 e
4. TR AR
Options :
686340176529. 1
686340176530. 2

686340176531. 3
686340176532. 4

Question Number : 34 Question Id : 68634044689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. 3O SR

i ge

3. 3TRW qUIy WH

4, 31 3= W

[ ]



Options :

686340176533. 1
686340176534. 2
686340176535. 3
686340176536. 4

Question Number : 34 Question Id : 68634044689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. 3-8 3R
2. 3T HE
3. TRE quig ®H
4, 3T 3 R
Options :
686340176533. 1
686340176534. 2

686340176535. 3
686340176536. 4

Question Number : 34 Question Id : 68634044689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. 3O ST
2. 3T HE
3. TR U R
4. SNG 3 W
Options :
686340176533. 1
686340176534. 2

686340176535. 3
686340176536. 4

Question Number : 35 Question Id : 68634044690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST Sid 9 add -
1. URUTNRE
2. fafgay
3' i\. ~
4. TIRFH
Options :
686340176537. 1
686340176538. 2

686340176539. 3
686340176540. 4

Question Number : 35 Question Id : 68634044690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hell S0 Sid I gdd -

1. ORI

2. fafergzm

3. g

4. TR
Options :
686340176537. 1
686340176538. 2

686340176539. 3
686340176540. 4

Question Number : 35 Question Id : 68634044690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hel ST 3 3 aad -
1. GRHTSREH



Options :

686340176537. 1
686340176538. 2
686340176539. 3
686340176540. 4

Question Number : 36 Question Id : 68634044691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R 81
1. Sfauiiafa w |
. SAUIE W |
3. (qUig Bl W |
4, 3fBIST= Haul ¥ |

Options :

686340176541. 1
686340176542 2
686340176543. 3
686340176544. 4

[ ]

Question Number : 36 Question Id : 68634044691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 31
1. SqUiitaf o |
. SAUIE IR |
3. QUG BRI W |
4, 3fpIST= Haul O |

Options :

686340176541. 1
686340176542. 2
686340176543. 3
686340176544. 4

[ ]

Question Number : 36 Question Id : 68634044691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oR 37
1. SquiifefI o |

. SAUIE W |

3. 3aUig Bl oy |

4, 3fBIST= Haul ¥ |

Options :

686340176541. 1
686340176542. 2
686340176543. 3
686340176544. 4

[ ]

Question Number : 37 Question Id : 68634044692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 UGN quil yal= -
1.3
2.1d
3. UDladl
4.9
Options :
686340176545. 1
686340176546. 2

686340176547. 3
686340176548. 4

Question Number : 37 Question Id : 68634044692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31 UATER Ul Hai- -
1.3
2.¥d
3. UPTaR]
4.5

Options :



686340176545. 1
686340176546. 2
686340176547. 3
686340176548. 4

Question Number : 37 Question Id : 68634044692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

379 UATER Ul Haf- -
1. 9w

2.¥d

3. Udhiq
4. qxl

Options :

686340176545. 1
686340176546. 2
686340176547. 3
686340176548. 4

Question Number : 38 Question Id : 68634044693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&= sfd Hgdrg:?
1. fAIS=ad™
2. 3IS: IR

3, RFESRIH:

4. 3T R1q 9a9

Options :

686340176549. 1
686340176550. 2
686340176551. 3
686340176552. 4

Question Number : 38 Question Id : 68634044693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f&=1 sfd wmarg:»
1. 3fals<ad™
2. 3¢ IRY

3. RIHS~RaH:

4. 3epTe 1A o=

Options :

686340176549. 1
686340176550. 2
686340176551. 3
686340176552. 4

Question Number : 38 Question Id : 68634044693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&=1 sfd wmarg:»
1. 3fals<ad™
2. 3¢ IRY

3. RIHS~RaH:

4. 3T 1A o=
Options :
686340176549. 1
686340176550, 2

686340176551. 3
686340176552. 4

Question Number : 39 Question Id : 68634044694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Ufadafd-
1. Bafger
fafaen
1)
4. iyl

Options :

| )

[FN]



686340176553. 1
686340176554. 2
686340176555. 3
686340176556. 4

Question Number : 39 Question Id : 68634044694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agreRund Yfdafd-
1. fAfqur

fafae

 gEIfaun

4, gefaet

Options :

686340176553. 1
686340176554. 2
686340176555. 3
686340176556. 4

| )

[FN]

Question Number : 39 Question Id : 68634044694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aaTeRUd Yifddafd-
1. fAfqen

fafaur

 gfaun

4, grfaet

Options :

686340176553 1
686340176554. 2
686340176555. 3
686340176556. 4

| )

[#5]

Question Number : 40 Question Id : 68634044695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. faeme:
2. JHIGA
3. Ho

4. Ag@f:

Options :

686340176557. 1
686340176558. 2
686340176559. 3
686340176560. 4

Question Number : 40 Question Id : 68634044695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. famer:
2.34H194
3. TR
4. g

Options :

686340176557. 1
686340176558. 2
686340176559. 3
686340176560. 4

Question Number : 40 Question Id : 68634044695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| )
%



Options :

686340176557. 1
686340176558. 2
686340176559. 3
686340176560. 4

Question Number : 41 Question Id : 68634044696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UES: SO fawsel add -

1. U§+3E:
2. Wg+3iTe:
3. U§+ag:
4. UE+FE:

Options :

686340176561. 1

686340176562. 2

686340176563. 3
686340176564. 4

Question Number : 41 Question Id : 68634044696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UNIg: SO fd=sal aad -
1. UB+Je:
2. Uy +3fie:
3. U§+31g:
4. TE-FE

Options :

686340176561. 1
686340176562. 2
686340176563. 3
686340176564. 4

Question Number : 41 Question Id : 68634044696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UES: SO fawsel add -

1. U§+3E:
2. Wg+3iTe:
3. Ug+ae:
4. UN+3E:

Options :

686340176561. 1

686340176562. 2

686340176563. 3
686340176564. 4

Question Number : 42 Question Id : 68634044697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Hafcr srelaifies -
1. TRIRY]
2. FI&Tq
3. geETdard
4. fc wateH

Options :

686340176565. 1
686340176566. 2
686340176567. 3
686340176568. 4

Question Number : 42 Question Id : 68634044697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T vafa e -
1. TRIRA]
2. I&Tq
3. geATary
4, Gfd vaeH

Options :



686340176565. 1
686340176566. 2
686340176567. 3
686340176568. 4

Question Number : 42 Question Id : 68634044697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfrer yafa srefafie -
1. GRERA]
2. FI&
3. geATdar
4. Tfd v

Options :

686340176565. 1
686340176566. 2
686340176567. 3
686340176568. 4

Question Number : 43 Question Id : 68634044698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T% I T JaIeIUHK] -
1. g%
2. g
3. o
4. Gd=z:

Options :

686340176569. 1
686340176570. 2
686340176571. 3
686340176572. 4

Question Number : 43 Question Id : 68634044698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T I 50 GaTeRUM -

1. Hg
2. g
3.1|a:§:
4. %d=

Options :

686340176569. 1

686340176570. 2

686340176571. 3
686340176572. 4

Question Number : 43 Question Id : 68634044698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TR SaIgIUMHI] -

1. 065
2. P
3. 1|a§r
4. 34

Options :

686340176569. 1

686340176570. 2

686340176571. 3
686340176572. 4

Question Number : 44 Question Id : 68634044699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STt Hafd HTa -
1. TR
2. HiAgHad
3. Taged
4. gt~

Options :



686340176573. 1
686340176574. 2
686340176575. 3
686340176576. 4

Question Number : 44 Question Id : 68634044699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STt Hafd Hra -
1. dUTHRUE
2. i ad
3. daTfeHd
4. gt~

Options :

686340176573. 1
686340176574. 2
686340176575. 3
686340176576. 4

Question Number : 44 Question Id : 68634044699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et Hafd Hra -
1. dUTHRUE
2. HiAgHHad
3. daTfeHd
4. gt~ d

Options :

686340176573. 1
686340176574. 2
686340176575. 3
686340176576. 4

Question Number : 45 Question Id : 68634044700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHEEST S 01 & forad 2
1. §edHq
2. fowiiay
3. %cH
4. TocaH

Options :

686340176577. 1
686340176578. 2
686340176579. 3
686340176580. 4

Question Number : 45 Question Id : 68634044700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHEEST 3 0 & foraa 2
1. ¥
2. fowiiay
3. %@H
4. ToeH

Options :

686340176577. 1
686340176578. 2
686340176579. 3
686340176580. 4

Question Number : 45 Question Id : 68634044700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BHHS Sid FAT e fhad »

1. YodHq

H

faei@y

| )

-4



Options :

686340176577. 1
686340176578. 2
686340176579. 3
686340176580. 4

Question Number : 46 Question Id : 68634044701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GRS =+ Yol Hafd

1.<4

£

| )

L9

431
Options :
686340176581. 1
686340176582. 2
686340176583. 3
686340176584. 4

Question Number : 46 Question Id : 68634044701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy == yadl Hafg

1.<I4Y

kY

[

L ad

4819
Options :
686340176581. 1
686340176582. 2
686340176583. 3
686340176584. 4

Question Number : 46 Question Id : 68634044701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 3

4319
Options :
686340176581. 1
686340176582. 2
686340176583. 3
686340176584. 4

Question Number : 47 Question Id : 68634044702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feHT! 50 &: Teg: 2
1. 1Y
2819

3.8F
4, T

Options :

686340176585. 1
686340176586. 2
686340176587 3
686340176588. 4

Question Number : 47 Question Id : 68634044702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SO S0A F: UdT: ?
1 7 i S

{ )

3.1
e



Options :

686340176585. 1
686340176586. 2
686340176587. 3
686340176588. 4

Question Number : 47 Question Id : 68634044702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fedTt 5= &: uaT: 2
1. $TY
2.3

Y

3.8
4. T

Options :

686340176585. 1
686340176586. 2
686340176587. 3
686340176588. 4

Question Number : 48 Question Id : 68634044703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 503 F: T 2
1.31q
2. 919

~

3. faa
4.5

Options :

686340176589. 1
686340176590. 2
686340176591. 3
686340176592. 4

Question Number : 48 Question Id : 68634044703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 503 F: T 2
1.31q
2. 919

~

3. faa
4.5

Options :

686340176589. 1
686340176590. 2
686340176591. 3
686340176592. 4

Question Number : 48 Question Id : 68634044703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 5T &: YIT: 2
1.81q
2. 519

~

3. faa

4' ; \
Options :
686340176589. 1
686340176590. 2

686340176591. 3
686340176592. 4

Question Number : 49 Question Id : 68634044704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Efi%: S JaTERUHIE-
1. #fe:
2. Tf:
3. gafd:
4. T

Options :



686340176593. 1
686340176594. 2
686340176595. 3
686340176596. 4

Question Number : 49 Question Id : 68634044704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR SO IaTgRUH G-
1. Hfak:
2. 711k

3. gfd:
4, T2l

Options :

686340176593. 1
686340176594. 2
686340176595. 3
686340176596. 4

Question Number : 49 Question Id : 68634044704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT SO JaBRUMERK-
1. Hfek
2. 71

3. gafd:
4. el

Options :

686340176593. 1
686340176594. 2
686340176595. 3
686340176596. 4

Question Number : 50 Question Id : 68634044705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It g & AU S Ul Hafd 2

1. fg:
2. U5y
3. gl Al
4. FEamgal fgr

Options :

686340176597. 1

686340176598. 2

686340176599. 3
686340176600. 4

Question Number : 50 Question Id : 68634044705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Prcliet 5 1 Qa0 g W vl -

1. fgm:
2. U5y
3. gall HSEIC:
+ ST

Options :

686340176597. 1

686340176598. 2

686340176599. 3
686340176600. 4

Question Number : 50 Question Id : 68634044705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et S 1 U ST Wl Hafd 2
1. fg:
gy
gl A
. HETgal T

| ]

(5]

e



Options :

686340176597. 1
686340176598. 2
686340176599. 3
686340176600. 4

Question Number : 51 Question Id : 68634044706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qga{ﬁmqua?%-
A' ﬁ E Y
B. 454
C. PIUd =
D. TaISTaa:
E. U%: Q4URAr:
e HEMRIAY fadpedy guie=r 3w f¥gd -
1. PAd A E
2. Bdd A, C
3. PA0B.E

4.4 C. D

Options :

686340176601. 1
686340176602. 2
686340176603. 3
686340176604. 4

Question Number : 51 Question Id : 68634044706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y E@RYS Tl -
A' E E 5
B. IS4
C. HBUd T
D. TdISTaa:
E. U%: QURA:
e HEMRIAY fadpedy guie=r 3w f¥gd -
1. Pad AL E
2. HAT A, C
3. %dWB.E

4.4 C. D

Options :

686340176601. 1
686340176602. 2
686340176603. 3
686340176604. 4

Question Number : 51 Question Id : 68634044706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TY HYHRY Teiel -
A' E E %
B. T4
C. 3fPid 9
D. THISYAAIa:
E. U%: QURA:
31y Wiy fasedy e I f&d -
1. DA AL E
2. Hdd A, C
3. PO0 B.E

4. %44 C. D

Options :

686340176601. 1
686340176602. 2
686340176603. 3



686340176604. 4

Question Number : 52 Question Id : 68634044707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrodarafRufdas: vafd
1. gRom:
2. Tt
3. Tag
4. =

Options :

686340176605. 1
686340176606. 2
686340176607 3
686340176608. 4

Question Number : 52 Question Id : 68634044707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fgarafRulds: Hafd
1. gRoms:
2. rfqufeepre:
3. farg;
4, G0
Options :
686340176605. 1
686340176606. 2

686340176607. 3
686340176608. 4

Question Number : 52 Question Id : 68634044707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FOdgRyide: Yaid
1. GRUT:
2. wifufeae:
3. 35:
4. Fw=AT1
Options :
686340176605. 1
686340176606. 2

686340176607. 3
686340176608. 4

Question Number : 53 Question Id : 68634044708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU g T O, S qediar oif -

1. 9™
2. W
3, PRG
4. FoTd gl SI9e

Options :

686340176609. 1

686340176610. 2

686340176611. 3
686340176612. 4

Question Number : 53 Question Id : 68634044708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QAU e 3T U, g qgaiar i -
1. gu™
2. S{HET
3. PRSP
4. FoTd god SI9e

Options :



686340176609. 1
686340176610. 2
686340176611. 3
686340176612. 4

Question Number : 53 Question Id : 68634044708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QAU g 311Td: U, g qaian 3 -
1. 9=
2. 3UYM
3. PR&
4. FETdH o e

Options :

686340176609. 1
686340176610. 2
686340176611. 3
686340176612. 4

Question Number : 54 Question Id : 68634044709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
formfer faufdayafa -
1 aﬁ |
e
4, T
Options :
686340176613. 1
686340176614. 2

686340176615. 3
686340176616. 4

| )

[#5]

Question Number : 54 Question Id : 68634044709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fermieaiT faufaaiafa -
{, aﬁ g
g
4, et
Options :
686340176613. 1
686340176614. 2

686340176615. 3
686340176616. 4

| )

[FN]

Question Number : 54 Question Id : 68634044709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepmifea faufaaatd -
1. aﬁ g
Tt
4. AT
Options :
686340176613. 1
686340176614. 2

686340176615. 3
686340176616. 4

| )

[#5]

Question Number : 55 Question Id : 68634044710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fHfed gfd e e 2
1. HGPRILAY
2. fafergam
3. HIEH
4. fASRFH

Options :



686340176617. 1
686340176618. 2
686340176619. 3
686340176620. 4

Question Number : 55 Question Id : 68634044710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT gid P Iex g 2
1. ABRIIH
2. fafergaH
3. UIREH
4. fde=REH
Options :
686340176617. 1
686340176618. 2

686340176619. 3
686340176620. 4

Question Number : 55 Question Id : 68634044710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i gfd Siewi 3Fm 2
1 3 jz— *

Options :

686340176617. 1
686340176618. 2
686340176619. 3
686340176620. 4

Question Number : 56 Question Id : 68634044711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et gk ufd. s ufd sy &1 95

1. 3fogy
2. areT
3. PHYTIHIT:
FRELIGE

Options :

686340176621. 1

686340176622. 2

686340176623. 3
686340176624. 4

Question Number : 56 Question Id : 68634044711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
agHt: g Ald. 3O Wi Sus o1 I

1. 3oy
2. dieT
3. PHYGTIE:
4, T

Options :

686340176621. 1

686340176622 2

686340176623. 3
686340176624. 4

Question Number : 56 Question Id : 68634044711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dedt: 3R uid, g vl S &1 43
1, 3o
2. areH
3. HHUGEAG:
4. 9T

Options :



686340176621. 1
686340176622. 2
686340176623. 3
686340176624. 4

Question Number : 57 Question Id : 68634044712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl S fadig -
L.
2. T
3. gl
4. el
Options :
686340176625. 1
686340176626. 2

686340176627. 3
686340176628. 4

Question Number : 57 Question Id : 68634044712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl g faediad-

1. el
2. O
3. gt

4. !

Options :

686340176625. 1
686340176626. 2
686340176627. 3
686340176628. 4

Question Number : 57 Question Id : 68634044712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bl 5 faia-
L. el
2. Tl
3. gt
4, oA

Options :

686340176625. 1
686340176626. 2
686340176627. 3
686340176628. 4

Question Number : 58 Question Id : 68634044713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI Uy s0s g o 31T -

1.9MH

5

| )

ug:
3. 3HUH
4. fpmfm
Options :
686340176629. 1
686340176630. 2

686340176631. 3
686340176632. 4

Question Number : 58 Question Id : 68634044713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T ST U g g B R -
1.7
2. 494:
3. YT
4. fmfoa

Options :



686340176629. 1
686340176630. 2
686340176631. 3
686340176632. 4

Question Number : 58 Question Id : 68634044713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S Ug gaE g5 oY T -
1.7
2. 44:
3. 3HUH
4. fpmfm
Options :
686340176629. 1
686340176630. 2

686340176631. 3
686340176632. 4

Question Number : 59 Question Id : 68634044714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hirrree yaa siayr Wifsaa
1. U faeT
2. FAfagen
3. gfaer
4. Tgfaer
Options :

686340176633. 1
686340176634. 2
686340176635. 3
686340176636. 4

Question Number : 59 Question Id : 68634044714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

686340176633. 1
686340176634. 2
686340176635. 3
686340176636. 4

Question Number : 59 Question Id : 68634044714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
diiareR HiaHT Sider Wihad?

1. U faeT

fafae

REICU
4. Tgfaen

Options :

686340176633. 1

686340176634. 2

686340176635. 3
686340176636. 4

[ ]

L]

Question Number : 60 Question Id : 68634044715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAd S RATAGILI BT HIGT I ?
1. QMdt
2. 3meff
3. JygfaYr
4. PISTU AT

Options :



686340176637. 1
686340176638. 2
686340176639. 3
686340176640. 4

Question Number : 60 Question Id : 68634044715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA 3 3RATAIRIA 1 HIG] I ?
1. QMdt
2. 3redf
3. Jygfayl
4. PISiU AT

Options :

686340176637. 1
686340176638. 2
686340176639. 3
686340176640. 4

Question Number : 60 Question Id : 68634044715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ydd oA SHRATTAIRI BT UG AT?
1. QMed]
2. el
3. Fyafayn
4. prsfa &

Options :

686340176637. 1
686340176638. 2
686340176639. 3
686340176640. 4

Question Number : 61 Question Id : 68634044716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3TIATR g S STl AMH &: 2
1. 3ATYE:
2. 3urefardl
3. Jaife:
4. gurfaad

Options :

686340176641. 1
686340176642. 2
686340176643. 3
686340176644. 4

Question Number : 61 Question Id : 68634044716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3TTATR] Usq: S STl AMH &: 2
1. 3ATIE:
2. SgyTfare
3. "
4, gyrdae

Options :

686340176641. 1
686340176642. 2
686340176643. 3
686340176644. 4

Question Number : 61 Question Id : 68634044716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3TIATR] e S STl AH &= 2
1. AT
2. 3yrefard
3. T
4. gurfaad

Options :



686340176641. 1
686340176642. 2
686340176643. 3
686340176644. 4

Question Number : 62 Question Id : 68634044717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT d Ylegale: (arerdare:) §d -
1. Q&g
2. gand:
3. YOI,

4. 3T

Options :

686340176645. 1
686340176646. 2
686340176647. 3
686340176648. 4

Question Number : 62 Question Id : 68634044717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YTEHd WTegalY: (arendars:) S -
1. T
2. g
3. JETUT
4. STHTI
Options :
686340176645. 1
686340176646. 2

686340176647. 3
686340176648. 4

Question Number : 62 Question Id : 68634044717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YTEHd WTsaaly: (Frerrdals):) SR -
1. Xsg:

. gard:

| )

3. UHTU,

N

4. SHF

Options :

686340176645. 1
686340176646. 2
686340176647. 3
686340176648. 4

Question Number : 63 Question Id : 68634044718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: YT, TPH DY (Assertion A) S{U{H A PRUMH (Reason R)
STy A - afeT R 3fa ared o |
PRI R : did g Fanry Jam |

STaaYTead T5H 314 eidide ey THIHH St fod|

1. AUd R 344 I TYUI R, A 3O I RAT &7

2. ATUd R 34T 9@ W= R, A S0 T oA AIKT

3. AT, T R TH
4, A 3, W] RITH

Options :

686340176649. 1
686340176650. 2
686340176651. 3
686340176652. 4

Question Number : 63 Question Id : 68634044718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
HfUHYAY A - Tl i gia ared ymm |

PRUHR e T ganfy wHE |

SRjE YRR TSy oy VeRidfam ety FHiHAH S Fd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I W R, A 308 4% oA I

3. A9, W R HTH
4. A 3T, <] RITH

Options :

686340176649. 1
686340176650. 2
686340176651. 3
686340176652. 4

Question Number : 63 Question Id : 68634044718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYUTGAHT, THHIHBY (Assertion A) HIRH 3 HRUMH (Reason R)
SfUSHYAY A : aleAT i gid ared yam e |

PRUMR : Afed ared gdui yHOR |

SRjE YRR 5y oy VeRidfam ey FHiHAH SR |

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176649. 1
686340176650. 2
686340176651. 3
686340176652. 4

Question Number : 64 Question Id : 68634044719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy o1 fgufdda: wafd »
1. UYH
2. Ozl

3. =gl
4, Teima

Options :

686340176653. 1
686340176654. 2
686340176655. 3
686340176656. 4

Question Number : 64 Question Id : 68634044719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Trgie P fguidd: yafd 2
1. WYl
 TH!

3. =gl
4. et

Options :

686340176653. 1
686340176654. 2
686340176655. 3
686340176656. 4

[ ]

Question Number : 64 Question Id : 68634044719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e o fqufe: wafa o
1. M
2. gt
3. =gl
4, Teita

Options :



686340176653. 1
686340176654. 2
686340176655. 3
686340176656. 4

Question Number : 65 Question Id : 68634044720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ooy G S @ STYRY Yala?

1. A
3. 3fHHY:
4. Taatér:

Options :

686340176657. 1

686340176658. 2

686340176659. 3
686340176660. 4

| B

Question Number : 65 Question Id : 68634044720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ooy G S @ STYRY Yafa?

1. a9
3. S HAYF:
4. faaféra:

Options :

686340176657. 1

686340176658. 2

686340176659. 3
686340176660. 4

| B

Question Number : 65 Question Id : 68634044720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty e S0 @ STYRY yaka?
1. aufia:
. fg=aiite:
3. YT S:
4. foaféma:
Options :
686340176657. 1
686340176658. 2

686340176659. 3
686340176660. 4

| )

Question Number : 66 Question Id : 68634044721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: aazl:@‘_qﬂ% e AT (Assertion A) &rERﬂ Y ©NUH (Reason R)
HTUHUTH A: TART S19 U= Yafd|

HRUTH R: 3¢ 93 WyHIdaE® aad |

SQFIH YT GaH 31Y: YafRididemedy Jui==y I fadl

1. ATd R 34T I TUT R, A SO I sgRaAT AT

2. ATUG R 4T ¥d T R, A T HISD I1EHT 31
3. A9 IR R 3TH
4. A I R RUTH

Options :

686340176661. 1
686340176662. 2
686340176663. 3
686340176664. 4

Question Number : 66 Question Id : 68634044721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: mmgcmﬁ[ e AT (Assertion A) &rERﬂ Y ©NUH (Reason R)
HTUHUTH A: TART S19 U= Yafd|

HRUTH R: 3¢ Y3 NyHIIaE® aad |

SuadD YR T4 31y: yeRidfdeedy =g 3o g

1. ATd R 34T I TUT R, A SO I sgRaAT AT

[ ]

. ATd R 344 I W= R, A 308 YHIS ARAT &

3. A9 IR R 3TH

4, A T R RUTH

Options :

686340176661. 1
686340176662. 2
686340176663. 3
686340176664. 4

Question Number : 66 Question Id : 68634044721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: @F@mﬁ[ e AT (Assertion A) 3'|'E|T-|:[ S HPRUTH (Reason R)
SHTUBYH A: FURI S1q Y= Yald|

PRUMH R: 5¢ ¢ UuHadarEe add |

SuadD YR T4 31y: yeRidfdeedy =g 3o g

1. AT R 34T I TUT R, A SO I oORaT A&

[ ]

. ATd R 344 I W= R, A 308 YHIS ARAT &

3. AN T R 3HTH

4, A T R RUTH

Options :

686340176661. 1
686340176662. 2
686340176663. 3
686340176664. 4

Question Number : 67 Question Id : 68634044722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
STHFYTH A: FUeTarrd] uid Hordt ¥ |

FROM R: TaATISH 3fd SUPRISTH |

SUFIYTEd gy Y YafRiafde ey FHi=HY 3t fHd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9, W R HTH

4, A 3T, W] RITH

Options :

686340176665. 1
686340176666. 2
686340176667. 3
686340176668. 4

Question Number : 67 Question Id : 68634044722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 DYUTGUHR, UHHIHDHY (Assertion A) I{IRH 3% HRUMH (Reason R)
SfHFYH A Tueawrsnl ufd Furd sireT |

PRUM R: JaARGH gfd siterisay |

SUFIYTEd™ gy Y YafRiafde ey JHi=HY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176665. 1
686340176666. 2
686340176667. 3
686340176668. 4

Question Number : 67 Question Id : 68634044722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
STHFYTH A: FUeTarrd] uid Hordt ¥ |

FROM R: TaATISH 3fd SUPRISTH |

SUFIYTEd gy Y YafRiafde ey FHi=HY 3t fHd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9, W R HTH

4, A 3T, W] RITH

Options :

686340176665. 1
686340176666. 2
686340176667. 3
686340176668. 4

Question Number : 68 Question Id : 68634044723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYUTGUHR, UHHIHDHY (Assertion A) HIRH 3% HRUMH (Reason R)
SHTYSHYAY A : fhamar==1 w@radl erqusie!: Haf- |

PRUM R: [82® AR YIHT = W |

SUFIYTEI gy 3 YafRiafdeely JHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176669. 1
686340176670. 2
686340176671. 3
686340176672. 4

Question Number : 68 Question Id : 68634044723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
SHBYUTH A - febararfe saredt urgeeT: 1af |

PRI R: 165D ST TR = 7 |

SUFIYTEI™ gy 3 YafRiafdeely JHiEHY 3t f&d|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9, W R HTH

4, A 3T, W] RITH

Options :

686340176669. 1
686340176670. 2
686340176671. 3
686340176672. 4

Question Number : 68 Question Id : 68634044723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Y: DYUTGUHR, UHHIHDHY (Assertion A) HIRH 3% HRUMH (Reason R)
SHTYSHYAY A : fhamar==1 w@radl erqusie!: Haf- |

PRUM R: [82® AR YIHT = W |

SUFIYTEI gy 3 YafRiafdeely JHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176669. 1
686340176670. 2
686340176671. 3
686340176672. 4

Question Number : 69 Question Id : 68634044724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
HTUHYT A: THFTER A8 0 |

HRUM R: GTHE UG AIE: |

SUYFIYTEd gy 3y YafRiafdeely JH=HY 3t fHd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9, W R HTH

4, A 3T, W] RITH

Options :

686340176673. 1
686340176674. 2
686340176675. 3
686340176676. 4

Question Number : 69 Question Id : 68634044724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 DYTGUHR, UHHIHDHY (Assertion A) HIRH 3% HRUMH (Reason R)
AHTUHYAY A: THHRRIERI AI9HT S0 |

HIRUTH R: G=WHE U9 A9 |

SUFIYTEI gy 3 YafRiafde ey SHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176673. 1
686340176674. 2
686340176675. 3
686340176676. 4

Question Number : 69 Question Id : 68634044724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
HTUHYT A: THFTER A8 0 |

HRUM R: GTHE UG AIE: |

SUYFIYTEd gy 3y YafRiafdeely JH=HY 3t fHd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9, W R HTH

4, A 3T, W] RITH

Options :

686340176673. 1
686340176674. 2
686340176675. 3
686340176676. 4

Question Number : 70 Question Id : 68634044725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 DYUTGUHR, UHHIHHY (Assertion A) HIRH 3% HRUMH (Reason R)
STUTYH A TARIN:, UARIRE Sid =ugd Yald |

PRUM R: S R IG8 WISTARID! 7 |

SUFIDYTEd™ gy 3 YafRiafdeely JHiEHE 3t f&d|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176677. 1
686340176678. 2
686340176679. 3
686340176680. 4

Question Number : 70 Question Id : 68634044725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
HTUHUTH A: TR, TasRIR 51 =0gd Yafd |
PR R: AR W U-a- GRISTARS] T |

SR FISUAEIR Ty &Y Yeididpely SH=HY It Hd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I W R, A 308 4% oA I

3. A9, W R HTH
4. A 3T, <] RITH

Options :

686340176677. 1
686340176678. 2
686340176679. 3
686340176680. 4

Question Number : 70 Question Id : 68634044725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGAHT, THHIHBY (Assertion A) HIRH 3T HRUMH (Reason R)
STUTYH A TARIN:, UARIRE Sid =ugd Yald |

PRUM R: S R IG8 WISTARID! 7 |

SUYFIYTEI gy Y YafRiafde ey JHiEHE 3t f&d|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176677. 1
686340176678. 2
686340176679. 3
686340176680. 4

Question Number : 71 Question Id : 68634044726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, TSHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
YT A 3 HHT fEd = |

SR R: HUEd Pl  TUH Yafd |

SRFISUTEIR Ty &Y Ueididdely Si=HY It Hd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I W R, A 308 4% oA I

3. A9, W R HTH
4. A 3T, <] RITH

Options :

686340176681. 1
686340176682. 2
686340176683. 3
686340176684. 4

Question Number : 71 Question Id : 68634044726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGAHRT, THHIHBY (Assertion A) HIRH 3T HRUMH (Reason R)
STUSUH A S DU fglian =7 |

PR R: UG BAR g wyH yafd |

SUYFIYTEI gy 3 YafRiafdeely JHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176681. 1
686340176682. 2
686340176683. 3
686340176684. 4

Question Number : 71 Question Id : 68634044726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 PYTGIHIET, TSHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
YT A 3 HHT fEd = |

SR R: HUEd Pl  TUH Yafd |

SRFISUTEIR Ty &Y Ueididdely Si=HY It Hd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I W R, A 308 4% oA I

3. A9, W R HTH
4. A 3T, <] RITH

Options :

686340176681. 1
686340176682. 2
686340176683. 3
686340176684. 4

Question Number : 72 Question Id : 68634044727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGAHT, THHIYBY (Assertion A) HIRH 3T HRUMH (Reason R)
STYSHYAY A: Wl Ga-y gy |

HRUM R: d-1d Ui aRyfaeiad |

SUYFIYTEd gy 3y YafRiafdeely FHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176685. 1
686340176686. 2
686340176687. 3
686340176688. 4

Question Number : 72 Question Id : 68634044727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: PYTGIHET, THHIHBYT (Assertion A) HURH 3T HRUM (Reason R)
HfUPHYTY A: WfaT: geHE e |

HROM R: 014 Terdmyfaeiad |

SRFISUTEIR Ty &Y Yeididmely Sy It Hd|

1. ATd R 4T I dYT R, A T T AR H&T

[ ]

. ATd R 344 I W R, A 308 4% oA I

3. A9, W R HTH
4. A 3T, <] RITH

Options :

686340176685. 1
686340176686. 2
686340176687. 3
686340176688. 4

Question Number : 72 Question Id : 68634044727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: DYTGAHT, THHIYBY (Assertion A) HIRH 3T HRUMH (Reason R)
STYSHYAY A: Wl Ga-y gy |

HRUM R: d-1d Ui aRyfaeiad |

SUYFIYTEd gy 3y YafRiafdeely FHiEHY 3t fHd|

1. ATG R 34T I dYT R, A SR e IR &

[ ]

. ATd R 344 I IR R, A 308 IS AT I

3. A9 O R AHEH

4, A 3T, W] RITH

Options :

686340176685. 1
686340176686. 2
686340176687. 3
686340176688. 4

Question Number : 73 Question Id : 68634044728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AQ
B. A
C.3

D.g
E®H

ey Y RIdy faeey FH=—r 3o f&d -
1.B.A.C.E.D
2.A.C.B.E.D
3.D.C.A.B.E
4. A.B.E.D.C

Options :

686340176689. 1
686340176690. 2
686340176691. 3
686340176692. 4

Question Number : 73 Question Id : 68634044728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AQ
B. 3
C.3

D.g
E®H

3y: FeRiay faseay Jril=iay 3o fgd -

1.B,A,C.E.D
2.4, CB,E,D
3.D.C.A.B.E
4.A.B.E.D.C

Options :

686340176689. 1

686340176690. 2

686340176691. 3
686340176692. 4



Question Number : 73 Question Id : 68634044728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'3 Sid TITBR™ quIi=1 Fgfd &d o d -

AR
B.
C.3

D.g
E.&»

ey gAY faeeoy Feii=r 3w fad -

1.B.A.C.E.D

| )

SAGE BB D
3.D.C.A.B.E
4 A.B.E.D.C

Options :

686340176689. 1
686340176690. 2
686340176691. 3
686340176692. 4

Question Number : 74 Question Id : 68634044729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tawrd: sfd e Fafgnfebar gureH faag

A. fawr+sq+g
B. TAISTAMIT:

o R ®

E. QUEEIAICY: JHMAH
314: Te iy faeeay wefii S fogd -

1.B.C.IDD.E A

| ]

C.AEDB
38D B EA
4.B.AE.C.D

Options :



686340176693. 1
686340176694. 2
686340176695. 3
686340176696. 4

Question Number : 74 Question Id : 68634044729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawra gfa wesw fafgufchar guims fiag

A. fawr+q+q
B. T4ISYAMT:

S ®

E. QUEEIAICY: JHMA
314: Ty faeey w3 fuga -

1.B.C.IDD.E A

| ]

C,AED.B
38D B EA
4. B.AE.C.D

Options :

686340176693. 1
686340176694. 2
686340176695. 3
686340176696. 4

Question Number : 74 Question Id : 68634044729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fowna fa e wg ffguidsar gured forag

A. fawr+3+7
B. TAISTAMIT:

S e ®

E. QYRIEIHIER: THATH

3fef: FefRiay fdeey Jril=ar 3o f=gd -

1.B.C.D.E.A

2.CAEDEB
3.C,D,B.E,A
4.B.AE.C.D

Options :

686340176693. 1
686340176694. 2
686340176695. 3
686340176696. 4

Question Number : 75 Question Id : 68634044730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HefeRaan R IgTeRN faHfadmau forag -

A. yHiq waTEfd

B. GIUll siifg:

C. Wl Hige e
D. AU HEFTd: U
E. Yol fawg gfa

31e: TS Rfay fawmeuy weiie 3w foa -

1.C.IDNB. EA

Z2A B D C E
3BACTLE
4 B.E.D.C.A

Options :

686340176697. 1
686340176698. 2
686340176699. 3
686340176700. 4



Question Number : 75 Question Id : 68634044730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sefaRaan R IgTeRN faHfadmau forag -

A. oHIq yHmEfd

B. S0 siife:

C. el Hlgd I9d
D. A0 HEFTd: o
E. 1kl faeo] wid

314: Ty faeey w3 fuga -

1.C.IDNB. EA

| ]

CALCBDIE E
3BACTLE
4.B.E.D.C.A

Options :

686340176697. 1
686340176698. 2
686340176699. 3
686340176700. 4

Question Number : 75 Question Id : 68634044730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeffafEan R erem fqufadm oo foad -

A. AT yAREIf

B. BIUII silfe:

C. Hgl Hige A
D. A0 HEFTd: o
E. Yl faw ufd

31e): wgRfay famedy wrig 3w faa -

1.C.D,B.E,A

| ]

CALCBIDIE E
3.B.A.C.D.E
4.B.E.D.C.A

Options :



686340176697. 1
686340176698. 2
686340176699. 3
686340176700. 4

Question Number : 76 Question Id : 68634044731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UY RS IR G0 &: BH: FHiE: 2

A TR

B. fawriafa:

C. e

D. g

E. UpfaHag:

3¢y HErdy faeedy Heitei= 3w fgd -

1.A,B.D,C.E
2.A,B.C.D.E
3.C.E.A.B.D
4.D.B,C.A.E

Options :

686340176701. 1

686340176702. 2

686340176703. 3
686340176704. 4

Question Number : 76 Question Id : 68634044731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HEMRIAY fadpedy guie=r 3w f¥gd -
1.A,B,D,C.E
2.A.B.C.D.E
3.C.E.A.B.D
4.D.B.C.A.E

Options :

686340176701. 1
686340176702. 2
686340176703. 3
686340176704. 4

Question Number : 76 Question Id : 68634044731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uy RIS e HR T HER0TH] &: 5H: FHET: 2

A BHEAE:

B. Tawiaf:

C. S

D. Wl

E. U fduragi:

e HEMRIAY fadpedy guie=r 3w f¥gd -

1LAB.D.C.E
2 A B BDE
3.C,ELAB.D
4.1, B, C,AE
Options :
686340176701. 1
686340176702. 2

686340176703. 3
686340176704. 4



Question Number : 77 Question Id : 68634044732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SreiferRad: YA o -

C. :
D. YEHH
E. Yaaqmmy
34y YRy fawey = 3 fod -

1.LE.B.D. A, C

| )

B EC AT
3:B.E EAxA
4. C.E.B.A.D
Options :
686340176705. 1
686340176706. 2

686340176707. 3
686340176708. 4

Question Number : 77 Question Id : 68634044732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SreiiferRead: YA o -

C. =
D. YEHH
E. Yaaqmmy
31e); FefRiay faseuy Friey Sk fogd -

1.LE.B.D. A, C

| )

BECAD
3.B,C.E, DA
4. C.E.B.A.D

Options :



686340176705. 1
686340176706. 2
686340176707. 3
686340176708. 4

Question Number : 77 Question Id : 68634044732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SreiferRad: YA o -

B. Tfd:

C. gfs:

D. YsgHH

E. TaarEry

ey gAY faeeoy Feii=r 3w fad -

1.E.B.D,A.C

2.B,E,C,A,D

3B, C.B,B,A

4.C.E.B.A.D
Options :
686340176705. 1
686340176706. 2

686340176707. 3
686340176708. 4

Question Number : 78 Question Id : 68634044733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EAd WMl HH: & 7

A Wﬁ‘iﬂ
B. Ua3lH
C. Mgy
D. sgale:

3¢ YaRIdy fasedy et 3w ¥ -

1A B DNE

[ )

DA B.C
3.C.B.A.D
4 B.C.A.D

Options :

686340176709. 1
686340176710. 2
686340176711. 3
686340176712. 4

Question Number : 78 Question Id : 68634044733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EAd WMl HH: & 7

A Wﬂt‘iﬂ
B. &3
C. Mgy
D. YTeaalY:

3¢y YAy faeedy Feitei= S fgd -

1.,A B I} C

| ]

DAB.C
3.C.B.A.D
4. B.C.A.D

Options :

686340176709. 1
686340176710. 2
686340176711. 3
686340176712. 4

Question Number : 78 Question Id : 68634044733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AIOHd YMec it HH: @ ?

A W‘&‘Eﬂ
B. UeI-H
C. Uidawq
D. Y38l

3y yafRiay faeedy Ty I fgd -

1.A B 1NE
2.D.A.B.C
3.C.B.A.D
4 B.C.A.D

Options :

686340176709. 1
686340176710. 2
686340176711. 3
686340176712. 4

Question Number : 79 Question Id : 68634044734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P & G § H U HTICRT: SHHUT SaHRUT: -

AT
B. 74
c.gq
D. 31

E. 7Y
31%): MefRioy fomety w3 g -

1.DAECBE
2:A.D.B.EC
3 DE.AB.C
4.E.C.B.A,D

Options :

686340176713. 1

686340176714. 2

686340176715. 3
686340176716. 4



Question Number : 79 Question Id : 68634044734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B ¢ E Y Y Ui YAagHHEICET: HHU SfaeRUiT: -

AT
B. ¥4
.5
D. 31

E.T
3y: vy ey g 3w foga -

1.DAECBE

[ ]

AU BUE
3 DE.AB.C
4. E.C,B,A,D

Options :

686340176713. 1
686340176714. 2
686340176715. 3
686340176716. 4

Question Number : 79 Question Id : 68634044734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B ¢ E B Y Ui YIS U SayRUiT: -

AT
B. ¥4
. ¥
D. 31T

E T
314y; wefRioy fomety et 3w faga -

1.DAECE

[ ]

AU BB
3. DB AB. E
4. E.C,B,A,D

Options :



686340176713. 1
686340176714. 2
686340176715. 3
686340176716. 4

Question Number : 80 Question Id : 68634044735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢: DUTGIHI -
HYTH 1 : 3G WGBS 7 /I |
YA I : 3P: Fau|s{= U qau=dl: g[d UBTEE: | |

STFSHYTEIR T5Y 3Y: FeRiafae ey g 3 fHEd)

1. Y 1 Ud HYH 11 IHT JIHq

-2

. PYH 1 Ud BYH I SHIHIIH

L#N]

YA [ A TR FYH 11 HATH

s

YA 1 38 I PYH 11 T

Options :

686340176717. 1
686340176718. 2
686340176719. 3
686340176720. 4

Question Number : 80 Question Id : 68634044735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e PYTGAHR -

FYH 1 : A W ISP T I |

PYTH 11 : 3%: GaUIST W JauRaN: 4" THIeer: W |
SUYEIPYTEEE F51 3fY: UafRidide ey Sk St fodl

1. Y 14 HYH 11 34T 9

| ]

. PYH 1 Td DY 11 SHTHIIH

(5]

YA 1A G HYH 11 3T,
4. YA [ S TR BYH 11 9]

Options :

686340176717. 1
686340176718. 2
686340176719. 3
686340176720. 4



Question Number : 80 Question Id : 68634044735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 BYTGIHIT -

FYH 1 : A W ISP T I |

PYTH 11 : 3%: GaUIST W JauRaN: 4" THIeer: W |
SUYEIPYTEaE F51 3fY: Uafidide ey SHiHHT St fodl

1. Y 14 HYH 11 34T 9

2. PYH 1 Ud TYH 11 SHTHIIH
3. DY 1 9d T=] DY 1T HTTH
4, PY 1 Y G PY 11 IIH

Options :

686340176717. 1
686340176718. 2
686340176719. 3
686340176720. 4

Question Number : 81 Question Id : 68634044736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 PYTGIHIT -
FYTHI: T R T S AISR |
YT 11 : AR I 3 a1 91 |

STdaYad T5H 3¢ aiaide ey THHH St fod|

1. YA 104 $YH 11 34T GIH

[ ]

 HYA 1 T4 TYH 11 IHTHIIH

L&)

YA 1A IR FYH 11 3TH,

e

 HYA T AT TR YA 11 JTH

Options :

686340176721. 1
686340176722. 2
686340176723. 3
686340176724. 4

Question Number : 81 Question Id : 68634044736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINRT -

FYTHI: T RE T S AISR |

FYFAH 11 : AR T ¢S a1 @ |

SR FISUTEIR Ty &Y Yaididhely SH=HY It Hd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHIIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, Y I 3R G Y 11 TH

Options :

686340176721. 1
686340176722. 2
686340176723. 3
686340176724. 4

Question Number : 81 Question Id : 68634044736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHIT -

FYTH 1 : T W I B aIsK |

DY 1 : TR G s G | |

SUFIYTEd gy 3 YafRiafde ey JHi=HY 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176721. 1
686340176722. 2
686340176723. 3
686340176724. 4

Question Number : 82 Question Id : 68634044737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINRT -

SYTH 1 : IHGd: T |

HYTH T : ORI IPUS B |

SUFIYTEd gy 3 YafRiafdeely SHiEHY 3t fHd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, YA 13RI G Y 11 ITH

Options :

686340176725. 1
686340176726. 2
686340176727. 3
686340176728. 4

Question Number : 82 Question Id : 68634044737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHIT -

HYTH 1 : IHTT: P NTF: |

YA I : AU aPUS B |

SUFIYTEd gy 3 YafRiafdeely SHiEHY 3t fHd|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176725. 1
686340176726. 2
686340176727. 3
686340176728. 4

Question Number : 82 Question Id : 68634044737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINRT -

SYTH 1 : IHGd: T |

HYTH T : ORI IPUS B |

SUFIYTEd gy 3 YafRiafdeely SHiEHY 3t fHd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, YA 13RI G Y 11 ITH

Options :

686340176725. 1
686340176726. 2
686340176727. 3
686340176728. 4

Question Number : 83 Question Id : 68634044738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHR -

FYTH 1 : 3T R W g aI &l Al |

YA 11 : HAHIRTHTa=Ia=ST I RGN gl |
SUYFIYTEI gy 3 YafRiafdeely JHi=HY 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176729. 1
686340176730. 2
686340176731. 3
686340176732. 4

Question Number : 83 Question Id : 68634044738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINRT -

YT : 3= W IR 5 1 &l 7 @l |

HYTH 11 - SFuIRTHE=ITARS TH R Sl |
SUFIYTEa™ gy 3 YafRiafde ey JHiEHY 3t fHd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, YA 13RI G Y 11 ITH

Options :

686340176729. 1
686340176730. 2
686340176731. 3
686340176732. 4

Question Number : 83 Question Id : 68634044738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHR -

FYTH 1 : 3T R W g aI &l Al |

YA 11 : HAHIRTHTa=Ia=ST I RGN gl |
SUYFIYTEI gy 3 YafRiafdeely JHi=HY 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176729. 1
686340176730. 2
686340176731. 3
686340176732. 4

Question Number : 84 Question Id : 68634044739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINR -

YT 1 : a0 PR D0 9 TYA W |

SYTH 11 : TG ad: Wl 55 UISH |1 |

SUYFIYTEd gy 3 YafRiafde ey FHi=HE 3t fHd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, YA 13RI G Y 11 ITH

Options :

686340176733. 1
686340176734. 2
686340176735. 3
686340176736. 4

Question Number : 84 Question Id : 68634044739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHRT -

YT 1 : S PR DRI 9 YYHT W1 |

Y 11 : Wgad: WalTl 35 UG- |1 |

SUYFIYTEd gy 3 YafRiafde ey JHi=HE 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176733. 1
686340176734. 2
686340176735. 3
686340176736. 4

Question Number : 84 Question Id : 68634044739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINR -

YT 1 : a0 PR D0 9 TYA W |

SYTH 11 : TG ad: Wl 55 UISH |1 |

SUYFIYTEd gy 3 YafRiafde ey FHi=HE 3t fHd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, YA 13RI G Y 11 ITH

Options :

686340176733. 1
686340176734. 2
686340176735. 3
686340176736. 4

Question Number : 85 Question Id : 68634044740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BYTEIHR -

HYIH 1 : Gardars yald TS |

DY 11 : SIEdISY YFISIq Hdld T&f |

SUYFIYTEd gy 3y YafRiafde ey JHi=HY 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176737. 1
686340176738. 2
686340176739. 3
686340176740. 4

Question Number : 85 Question Id : 68634044740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINR -

Y 1 : TEdard yald o |

YT II : SfSdlSY YIISTd Hald T&T |

SR FISUTEIR Ty &Y Ueididpely Si=HY It Hd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHIIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, Y I 3R G Y 11 TH

Options :

686340176737. 1
686340176738. 2
686340176739. 3
686340176740. 4

Question Number : 85 Question Id : 68634044740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: BYUTGIALE] -

HYIH 1 : Gardars yald TS |

DY 11 : SIEdISY YFISIq Hdld T&f |

SUFIYTEI gy 3 YafRiafde ey FHi=HY 3t f&d|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176737. 1
686340176738. 2
686340176739. 3
686340176740. 4

Question Number : 86 Question Id : 68634044741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINR -

HYTH 1 : TRy SfaaaH SRomard |

YT 11 : Meda 1Y Y& PRUMAN |

SR FISUTEIR Ty &Y Ueididmely Si=HY 3t Hd|

1. BY 174 $YA 11 IHY 9

[ ]

. PYH 1 Ud DY 11 SHTHIIH

L¥ ]

YA 1A IR FYH 11 3TH,
4, Y I 3R G Y 11 TH

Options :

686340176741. 1
686340176742. 2
686340176743. 3
686340176744. 4

Question Number : 86 Question Id : 68634044741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: PYUTGIAR] -

HYTH 1 : UEUURYd! SIfeig eRumafd|

DY 1 : Usaa]Y Y& DRI |

SUFIYTEI gy 3y YafRiafde ey JHiEHY 3t fHd|

1. Y 1 Ud HYH 11 IHT JIHq

[ ]

. PYH 1 Ud DY 11 SHTHTIH

L#N]

YA [ A TR FYH 11 HATH

e

 PYH T 3 T U 11 IdH

Options :

686340176741. 1
686340176742. 2
686340176743. 3
686340176744. 4

Question Number : 86 Question Id : 68634044741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: HYTEIINR -

HYTH 1 : TRy SfaaaH SRomard |

YT 11 : Meda 1Y Y& PRUMAN |

SR FISUTEIR Ty &Y Ueididmely Si=HY 3t Hd|

1. BY 174 $YA 11 IHY 9
2. BYH 1 Ud HYH 11 SHTHTIH
3. DY 1 9 TR~] $YH 11 ATTH
4, BYH T 3T R DY 11 TIH
Options :
686340176741. 1
686340176742. 2

686340176743. 3
686340176744. 4

Question Number : 87 Question Id : 68634044742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%4 gfg: e Hafd 2

A A
B. HT:
C. QTAI:
D. dT:
E. al

3y yeiiafaeedy qr=q 3w fdd -
1. A, C hdeH

_B.D &day

3.D.E$hddH

4.B.C Haaq

| )

Options :

686340176745. 1
686340176746. 2
686340176747. 3
686340176748. 4

Question Number : 87 Question Id : 68634044742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o gfg: AT Yafd 2

A A
B. YTT:
C. Qe
D. dNT:
E. gl

31y g iiafaeeuy Fr= I fd -
1.A. C Pauq
2. B. D $hadf
3.D.E $aayq
4.B.C Haaq

Options :

686340176745. 1
686340176746. 2
686340176747. 3
686340176748. 4

Question Number : 87 Question Id : 68634044742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
©A gla: 31N Hafd 2
A, TTei:
B. HIT:
C. QT
D. IIT:
E. 141
3y yaiRidfdeedy GHq I f=d -
1. A, C pauy
2.B.D »duH
3.D.E $aay
4.B.C $daq

Options :

686340176745. 1
686340176746. 2
686340176747. 3



686340176748. 4

Question Number : 88 Question Id : 68634044743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHAUGS] IRUTNT $F JUfasa?

A, Ty TS al:
B .

c:mr
D. ey ues 9
E. S&1 QUIg
3¢ gaiiafdeedy Tr=Y I d
1.B.D. Hdaq
2. E.ADauy
3. A. D haaq

4. C.E $aaq

Options :

686340176749. 1
686340176750. 2
686340176751. 3
686340176752. 4

Question Number : 88 Question Id : 68634044743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHNUGSG] TRYNT H Fufisd?
A. UGG
I CACARIEE
C. ST
D. Jacgued 9
E. 31 Ui
3¢ gaiiafdeedy Tr=Y I d
1.B. D, dauq
E. Aoy
3.A.D ®aayq

4. C.E $aaq

b2

Options :

686340176749. 1
686340176750. 2
686340176751. 3
686340176752. 4

Question Number : 88 Question Id : 68634044743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SPHNUIGS! GRHTHT S FUIdEd?
A. UTgPTHUIGH T
B. GG
C. S
D. Praaqaeys =
E. 5@ QU
3y: yaiRidfdeedy TH Y I =
1. B. D, Haaf]
E.A$duH
3. A.D ®aay

4. C.EHaaH

2

Options :

686340176749. 1
686340176750. 2
686340176751. 3



686340176752. 4

Question Number : 89 Question Id : 68634044744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TG
B. S&IUll

C. et
D. Agl

3¢ gafiafaeedy Tr=Y I d
1.B. C $adyq

.C.DHaay

3.A. Chaaq

4. A, B Pauq

| )

Options :

686340176753. 1
686340176754. 2
686340176755. 3
686340176756. 4

Question Number : 89 Question Id : 68634044744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TG
B. 31Ut

C. et
D. 7idl

3y: yeRiafge ey g 3w frd
1. B. C Hhaaq

.C.D Hdaq

3. A. C Hhaaq

4. A B Pauq

| )

Options :



686340176753. 1
686340176754. 2
686340176755. 3
686340176756. 4

Question Number : 89 Question Id : 68634044744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STy SOIRTERUMERT -

A T
B. S0t

C. STt
D. el

3y yeRidfde ey FoEHY I d
1.B.C $aaq

.C.D&aay

3.A. C Ay

4. A BPauq

| )

Options :

686340176753. 1
686340176754. 2
686340176755. 3
686340176756. 4

Question Number : 90 Question Id : 68634044745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BRPYGAT FATERY kel -
A. U Bic:
B. 73 U3W:
C. HIgT9 41
D. SFTa: Pl
3ey: weRiafgeedy g 3t fRrd
1. A. B Pauq
.C.D haaq
3.A.D $aaq

4. B.C hdaHq

b2

Options :

686340176757. 1
686340176758. 2
686340176759. 3
686340176760. 4

Question Number : 90 Question Id : 68634044745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BHRHYBUT IGERI adid -
A. PR Bick:
B. I J5W:
C. HIg-T89 471
D. S7q: Pdl
3ey: weRiafgeedy g 3t fRrd
1.A. B ®auq
.C.D haaq
3.A.D ®aayq

4.B.C hdaHq

b2

Options :

686340176757. 1
686340176758. 2
686340176759. 3
686340176760. 4



Question Number : 90 Question Id : 68634044745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRBYSA FEIG0] deld -
A. DU Pick:
B. I3l Y3
C. HIgTH 47
D, SHTc: &l
3¢ gariafdeedy Sr=Y I
1. A. B hduH
.C.DHaay
3. A.D haaq

4.B. C Haaq

2

Options :

686340176757 1
686340176758. 2
686340176759. 3
686340176760. 4

Question Number : 91 Question Id : 68634044746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PRE Hald -

A A
B. 0%

C. gRom
D. gRIUH

E. X

3y: yaiRidfdeedy TH Y I =
1.B.D ®auq

.C.E $haaq

3.A.CHaayq

4.C.D HduHq

[ B

Options :
686340176761. 1



686340176762. 2
686340176763. 3
686340176764. 4

Question Number : 91 Question Id : 68634044746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PRE Hald -

A. T
B. 0%

C. gRom
D. gRig

E. IR

3l e Riafae ey gH-Y 3w
1.B.D $auq

.C.Ehaaq

3. A. C haaq

4.C.D HduHq

[ ]

Options :

686340176761. 1
686340176762. 2
686340176763. 3
686340176764. 4

Question Number : 91 Question Id : 68634044746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRSG Hafd -

A Baq
B. 0¥

c. giom
D. gRiuy

E. X3

3¢ gaiiafdeedy Tr=Y I d
1.B.D $hduH

.C.E$aay

3.A. C haay

4.C.D dauf

| )

Options :

686340176761. 1
686340176762. 2
686340176763. 3
686340176764. 4

Question Number : 92 Question Id : 68634044747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 9

B. 310

C.Ug

D. IH

E. g4

3y: yaiRidfdeedy TH Y I =

1. A, E Haaq

2.B.C $hdaHq

3. A. C haaq

4.C.DHdHq

Options :

686340176765. 1
686340176766. 2
686340176767. 3



686340176768. 4

Question Number : 92 Question Id : 68634044747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A i
B. 3%f
ENe

D. ¥
E. T

3¢ gaiiafdeedy Tr=Y I d
1. A.E $aayq
2.B. C Haay
3.A.C Hauq
4.C.D dauf

Options :

686340176765. 1
686340176766. 2
686340176767. 3
686340176768. 4

Question Number : 92 Question Id : 68634044747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3¢ gaiiafdeedy Tr=Y I d
1. A.E $aaq
2.B. C Haay
3.A. C haay
4.C.D dauf
Options :
686340176765. 1
686340176766. 2

686340176767. 3
686340176768. 4

Question Number : 93 Question Id : 68634044748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEUTT: a6 & -
A e A
B. ®Y ai
C. Tl s
D. SE0 A1t

3y: yeRiafge ey g 3w frd
1. A. B pauy

.C.B®duHq

3. C. D Hhaay

4.B.D ®auq

| )

Options :

686340176769. 1
686340176770. 2
686340176771. 3
686340176772. 4



Question Number : 93 Question Id : 68634044748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U IETER0I : -
A ®e A
B. $U o]
C. Tl TS
D. S0 g1f=T

3y yeiiafde ey THH =Y I d
1. A, BhduH

.C.BHhaay

3.C.D ®duH

4.B.D $auf

| )

Options :

686340176769. 1
686340176770. 2
686340176771. 3
686340176772. 4

Question Number : 93 Question Id : 68634044748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI&TUTTT: JSTERUN &: -
A,
B. ®U ey
C. TR IS i
I RGIEWIRAIES]

3y yaiRidfdeedy TH Y I =
1. A. B Pauq

.C.B$duy

3.C.D Haayq

4.B.D HhdoH

| ]

Options :
686340176769. 1



686340176770. 2
686340176771. 3
686340176772. 4

Question Number : 94 Question Id : 68634044749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l fad O $d

T I T I
A3 I [gfs:
B. |33 1. [HgT:
c [ 111 [{oT:
D. [&f IV, [

3. yaRiafae ey gri-g 3w frd

1. A-IV. B-IIL. C-II. D-I

| ]

AL B-IV. C-1. D-II
3. A-L. B-I11I, C-II. D-IV
4. A-III, B-1I. C-IV. D-I

Options :

686340176773. 1
686340176774. 2
686340176775. 3
686340176776. 4

Question Number : 94 Question Id : 68634044749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&4l gfrd go $od

T 1 T
A |3 I [afs:
B. |33 . [EarT:
C. o 11 [iTor:
D. |&r V. [

1. A-IV. B-III. C-II. D-I
2. A-IL B-IV. C-1, D-II
3. A-L, B-III, C-II. D-IV
4. A-III, B-1I. C-IV. D-I

Options :

686340176773. 1
686340176774. 2
686340176775. 3
686340176776. 4

Question Number : 94 Question Id : 68634044749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l g ga $od

Gl T I
A |3 L [dfs:
B. |4T3 1. [HAE:
C [ 1. [iTar:
D. [&f v e

3¢ g iiafaeedy Sr=y I fd

1. A-IV. B-IIL, C-II. D-I
2. A-III, B-IV, C-I, D-II
3. A-IL B-IIL C-II, D-IV
4. A-III, B-II, C-IV, D-I

Options :

686340176773. 1

686340176774. 2

686340176775. 3
686340176776. 4



Question Number : 95 Question Id : 68634044750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T I I I
A [@d 1 [EymdH S0
B. [3UgH II. [Hedadsuy
C. [Puy 1L [Bitgdas
D. [qain IV. [(@HUrdSaTEY

3¢ yafRiafae ey gy 3w frd
1. A-I, B-IIL C-IV. D-II
2. A-II, B-L, C-IIL D-IV
3. A-IIL B-IL, C-IV, D-I
4. A-IIL, B-IV. C-1. D-II

Options :

686340176777. 1
686340176778. 2
686340176779. 3
686340176780. 4

Question Number : 95 Question Id : 68634044750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T 1 g 11
@H

L [Freedd PRUH
SHUIGHH II. [HegadSuHH
[BHI0H 1L [@iTeads
g IV. [{@HUdSUTEH

3¢ ygiRidfdeedy GHl=y 3w d

1. A-I. B-III. C-IV. D-II

ofolwx

2. A-IL B-1. C-III. D-IV

3. A-IIL, B-1I. C-IV. D-I

4. A-IIT, B-IV. C-1. D-II
Options :

686340176777. 1
686340176778. 2



686340176779. 3
686340176780. 4

Question Number : 95 Question Id : 68634044750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T 1 g 11
@H

I [FYddH $I0H
SHUTGIHY 1. [gegddSUY

@I0H 1L [@aiitads
g IV. [{@HUdSUTEH
3¢ ygiRidfdeedy GHl=y 3w d

1. A-I. B-III. C-IV. D-II

ofolwx

2. A-IL B-1. C-III. D-IV
3. A-IIL, B-1I. C-IV. D-I
4. A-IIT, B-IV. C-1. D-II

Options :

686340176777. 1
686340176778. 2
686340176779. 3
686340176780. 4

Question Number : 96 Question Id : 68634044751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l gfrd go $od

Tl 1 eIt 11
afeafafa Fiey| L [ems
Escaicicil B ERIGRES
GRSl 111 [gds
e V. [gde

3¢ yafiafdeedy Sr=Y I fd

1. A-I. B-III. C-II. D-IV

ofofw+

2. A-IL B-IV. C-1, D-II

3. A-IV. B-1, C-III. D-II

4. A-IL. B-IV. C-1, D-III



Options :

686340176781. 1
686340176782. 2
686340176783. 3
686340176784. 4

Question Number : 96 Question Id : 68634044751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l gfrd go $od

g1 T 11
afeafafa Fiey| L [ems
Escaicicil B ERIGRES
GRSl 111 [gds
EEet V. [gds

3¢ yafiafdeedy Sr=Y I fd

1. A-I. B-III. C-II. D-IV

ofofw»

| o

AL B-IV. C-1. D-II
3. A-IV. B-1, C-III. D-II
4. A-IL. B-IV. C-1, D-III

Options :

686340176781. 1
686340176782. 2
686340176783. 3
686340176784. 4

Question Number : 96 Question Id : 68634044751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&4l gfrd go $od

Gl Tt 11
afeafafa Fiey| L [ems
Escaicicil B ERIGRES
GRSl 111 [gds
e Iv. [gd&

3¢ yafiafdeedy Sr=Y I fd

1. A-I. B-III. C-II. D-IV

ofofw>

2. A-IL B-IV. C-1, D-II
3. A-IV. B-1, C-III. D-II
4. A-IL. B-IV. C-1, D-III

Options :

686340176781. 1
686340176782. 2
686340176783. 3
686340176784. 4

Question Number : 97 Question Id : 68634044752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l g ga $od

Gl T I
A Y L [P
B. [51g 1. [d19
C. [eq I1L. [§7cT
D. [&5 v [l

3¢ g iiafaeedy Sr=y I fd

1. A-I, B-IIL C-IV, D-II
2. A-III, B-1, C-II, D-IV
3. A-IL, B-IV, C-III, D-I
4. A-IV, B-II, C-III, D-I

Options :

686340176785. 1

686340176786. 2

686340176787. 3
686340176788. 4



Question Number : 97 Question Id : 68634044752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T I T I
A Y L |&s:
B. [51g 1. [diH
C [eq 111 [§TeT
D. [55 v [l

3¢ yafRiafae ey gy 3w frd
1. A-I, B-IIL C-IV. D-II
2. A-IIL B-L C-IL D-IV
3. A-IL B-IV, C-IIL D-I
4. A-IV. B-IL C-IIL D-I

Options :

686340176785. 1
686340176786. 2
686340176787. 3
686340176788. 4

Question Number : 97 Question Id : 68634044752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T 1 T 1
A Y I |®g:
B. [51g 1. [diH
C. [erq 111 [gren
D. [&g V. [l

3¢ ygiRidfdeedy GHl=y 3w d
1. A-L B-IIL C-IV. D-II
2. A-IIL, B-I. C-II, D-IV
3. A-II, B-IV. C-II1, D-I
4. A-IV, B-IL. C-III, D-I
Options :

686340176785. 1
686340176786. 2



686340176787. 3
686340176788. 4

Question Number : 98 Question Id : 68634044753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

A1 = 1
AR RS 1 [H i ad
Ul e: | 1 [Feend
TR ®: |1 [Far@oHd
. |srporEiaRsge: | 1v [Haigead

3¢ ygiRidfdeedy GHl=y 3w d

1. A-II. B-III. C-I. D-IV

ofofw]s

|

CA-IV, B-1, C-I1, D-IIT
3. A-L. B-III, C-IV. D-II
4. A-IV, B-IIL. C-II. D-I

Options :

686340176789. 1
686340176790. 2
686340176791. 3
686340176792. 4

Question Number : 98 Question Id : 68634044753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l gfrd go $od

Gl g I
_ [pumrarmEicesE| 1 | e ad
Ul ®: | 1 [HEgead

TERHEIERE®: | 1L [dar@oHd
_|empogEaiqEEe: | v Hadead

3¢ yafiafdeedy Sr=Y I fd

1. A-II. B-III. C-I. D-IV

ol fol ] g

| o

A-IV, B-1, C-11, D-III

3. A-L. B-III, C-IV. D-II

4. A-IV. B-IIL C-II. D-I



Options :

686340176789. 1
686340176790. 2
686340176791. 3
686340176792. 4

Question Number : 98 Question Id : 68634044753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l gfrd go $od

AT T I

_ [pumrarmEicesE| 1 | e ad

Ul ®: | 1 [HEgead
TERHEIERE®: | 1L [dar@oHd

HB AR D: | IV Haridead
3¢ yafiafdeedy Sr=Y I fd

1. A-TI. B-I11, C-I. D-IV

IR

| o

A-IV, B-1, C-11, D-III
3. A-L. B-III, C-IV. D-II
4. A-IV. B-IIL C-II. D-I

Options :

686340176789. 1
686340176790. 2
686340176791. 3
686340176792. 4

Question Number : 99 Question Id : 68634044754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&4l gfrd go $od
I Tt 11

A flga:-pdd 1. |3{90g-Tg WRadd
B [eeditag: [ 1 [sEReH a1 dio
C
D

. |SmeaTdiaart | 1L [qui: geald
mweREie: |1 [Qusmmedid

1. A-II. B-III. C-IV. D-I
2. A-IL B-1. C-I1. D-IV
3. A-L. B-IV, C-1I. D-III
4. A-IL. B-III. C-IV. D-II

Options :

686340176793. 1
686340176794. 2
686340176795. 3
686340176796. 4

Question Number : 99 Question Id : 68634044754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l Tfd dod $od

Gl T 11

e oo 1. [3regdTg WRISEd
e | 1 [e7ERET a1 gl

At | o fgee: weald
_ [ReRglE: V. [QUramaGHd

3y yaiiafamedy SH=Y 3w d

1. A-II. B-IT1. C-IV. D-I

ofow=]>

2. A-IL B-1. C-II. D-IV
3. A-L. B-IV. C-11, D-III
4. A-IL. B-III. C-IV. D-II

Options :

686340176793. 1
686340176794. 2
686340176795. 3
686340176796. 4



Question Number : 99 Question Id : 68634044754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<01 FHEd 5aH $od

T I T 1T
feg:pH9 | L [sremgarg wead
Wedlita: | I [37&Re a1 dieid
SHREATAITGRT | 1L [ Tedhd

_ [ReRgrE: V. [3unsamargsdia

3. yaRiafae ey gri-g 3w frd

1. A-IL. B-III. C-IV. D-I

ofow]>

2. AL B-1. C-II. D-IV
3. A-L. B-IV, C-1I, D-III
4. A-IL. B-III. C-IV. D-II

Options :

686340176793. 1
686340176794. 2
686340176795. 3
686340176796. 4

Question Number : 100 Question Id : 68634044755 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T 1 T
REFEIRE I B=mH
ERIEIGE 1L [SUHHH

ERIGIGE 11 [a3amm
B V. [ueaH

3¢ ygiRidfdeedy GHl=y 3w d

1. A-I. B-II. C-III. D-IV

ofo[wx

2. ATV, B-III. C-I1. D-I

3. A-L, B-II. C-IV, D-III

4. A-IV. B-1, C-III. D-II
Options :

686340176797. 1
686340176798. 2



686340176799. 3
686340176800. 4

Question Number : 100 Question Id : 68634044755 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gfrd e $od

T 1 T
REFEIRE I B=mH
ERIEIGE 1L [SUHHH

ERIEIRE 111 |37H7e
mam IV. [Ugs=4

3¢ ygiRidfdeedy GHl=y 3w d

1. A-I. B-II. C-III. D-IV

ofolwF

2. ATV, B-III. C-I1. D-I
3. A-L. B-II. C-IV, D-III
4. A-IV. B-1, C-III. D-II

Options :

686340176797. 1
686340176798. 2
686340176799. 3
686340176800. 4

Question Number : 100 Question Id : 68634044755 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&4l gfrd go $od

T 1 T
RIEGIEE L [g=mH
S 1. [SUAHH

ERIEIRE 111 [3rArH
TaH IV. [UeaH

3¢ yafiafdeedy Sr=Y I fd

1. A-I. B-II. C-III. D-IV

ofofw>

2. A-IV, B-I1L. C-II. D-I

3. A-L. B-II. C-IV, D-III

4. A-IV, B-1, C-III, D-II



Options :

686340176797. 1
686340176798. 2
686340176799. 3
686340176800. 4



